Virginia High School League

Scholastic Bowl, 2002-03 season

Regional Competition, Match #1

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the Regional level. Shawn Pickrell, Adam Fine, Christopher Moretti and Matt Weiner are the authors of these questions.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 tossups

1.
A group portrait depicting The Surrender of Breda as well as an individual portrait of Pope Innocent X were both rendered, for ten points, by which Spanish Baroque master who also painted Las Meninas?

ANSWER:  Diego Velazquez
2.
His favorite among his own novels was the story of Lambert Strether and Chad Newsome, The Ambassadors, which uses his common plot device of conflict between an expatriate American and Europeans. For ten points, name this author of The Wings of the Dove, Daisy Miller, and Portrait of a Lady.

ANSWER: Henry James, Jr. [prompt on JAMES]

3.
It was passed from one person to another by droplets from the nose and mouth, and was reproduced in lymphoid tissue.  Edward Jenner developed a vaccine for it, but for ten points, what viral disease may once again prove threatening to Americans due to a terrorist attack?

ANSWER:  smallpox
4.
He was hired by the English Muscovy Company to find a Northeast Passage, but could not get past Novaya Zemlya.  With his ship, the Half-Moon, he sailed to Albany, and was mutinied after he refused to turn back in his pursuit of a Northwest Passage.  For ten points, which English explorer, on board the Discovery, found a bay that now bears his name?

ANSWER:  Henry Hudson
5.
More serious than an infraction or a misdemeanor, it is generally punished by a prison term of a year or more, and in some states, by death. For 10 points, what is this term which describes major crimes such as murder, extortion or kidnapping?

ANSWER: FELONY
6.
THIS IS A COMPUTATION QUESTION. A batter’s strike zone is 30 inches high and 17 inches wide.  The batter cannot hit a high-and-tight pitch, which is defined as a strike in the rectangular area 4 inches wide by 6 inches high in the corner of the strike zone closest to his head.  For 10 points, what is the probability that a random strike will be in that area?

ANSWER: 4/85
7.
When it was established in 1935, it only covered people in commercial and industrial occupations. In 1950, farm and domestic workers were added, and a few years later, members of the armed forces and self-employed people were added. For 10 points, what is this collection of government programs to provide pensions for the disabled, retired and survivors of early deaths?

ANSWER: SOCIAL SECURITY
8.
Clyde Dunbar is not present due to a broken leg. Mr. Summers and Mr. Graves operate the title activity, while Mr. Martin and Baxter steady the box. The finalists are Bill, Bill Junior, Nancy, and Dave, but Tessie Hutchinson wins. For ten points, name this Shirley Jackson story in which Tessie’s prize is a death by stoning.

ANSWER: “The Lottery”

9.
For ten points, in taxonomy, a unit of organisms that can interbreed and produce natural fertile offspring is given what name, a unit of classification less inclusive than the genus?

ANSWER:  species
10.
New characters will include President McKenna, played by Cotter Smith, Shauna Kain as Theresa Cassidy, and Aaron Stanford as John Allerdyce. The biggest newcomer to this 2003 release will be Alan Cumming, buried under layers of blue makeup. For ten points, name this sequel which will see the return of Halle Berry, Patrick Stewart, and Hugh Jackman as Storm, Charles Xavier, and Wolverine.

ANSWER: X-Men 2
11.
A majority of scholars believe that the Essenes were the Qumran (KOOM-rahn) community responsible for writing, for ten points, what group of Hebrew, Greek, and Aramaic scripts found in a cave in the 1950s, that detail some Jewish beliefs in the first century BCE?

ANSWER:  Dead Sea Scrolls
12.
While he considered himself a nonreligious humanist, he wrote two books about the Bible including The Story of Ruth. From the short story “Marooned on Vesta” in 1939 to the posthumous 1996 anthology Magic, he published nearly five hundred works including his personal favorites The Gods Themselves and “The Bicentennial Man.”  For ten points, name this chemist and prolific author who wrote I, Robot and the Foundation series.

ANSWER: Isaac Asimov

13.
For 10 points, in what type of covalent bond is the electron density concentrated around the line bonding the atoms?

ANSWER: PI bonds

14.
This ten-letter word has its origin from the Latin word for storehouse, and describes a pharmacy or someone who puts drugs together for medicinal purposes. For 10 points, what is this archaic synonym for pharmacist or pharmacy that begins with “A”?

ANSWER: APOTHECARY
15.
He was nominated as the Whig candidate for President in 1840, and despite being an aristocratic Virginian, won election on the basis of being a rugged frontiersman. So rugged, in fact, that he delivered his two-hour inaugural address without benefit of a coat, contacted pneumonia, and died a month into his term. For 10 points, who was this first President to die in office?

ANSWER: WILLIAM Henry HARRISON
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
Seneca’s play “Pumpkinification” is a biting satire pointing out the defects of what fourth Roman emperor, also subject of a novel by Robert Graves?

ANSWER:  Claudius
1B.
THIS IS A COMPUTATION QUESTION. Complex binomial A equals 2 plus 3i (A = (2 + 3i)).  Complex binomial B equals negative three plus 5i (B = (-3 + 5i)).  What is A times B?

ANSWER: -21 + i

2A.
David Westerfield was sentenced to death in January over the death of what 7-year-old California girl?

ANSWER: Danielle VAN DAM
2B.
This seven-letter word can mean, alternately, to dismiss from service, especially dishonorably, or it can mean someone at a bank or retail store that takes money from customers. What is the common word?

ANSWER: CASHIER
3A.
Which first historical Chinese dynasty lasted from 1600 until 1027 BCE, when the Zhou overthrew its last king?

ANSWER:  Shang dynasty

3B.
What name is given to a one-seeded fruit enclosed in a pericarp, such as a filbert, acorn, or pecan?

ANSWER:  nut
4A.
THIS IS A COMPUTATION QUESTION. What is the sum of the intersections to a curve formed by a tangent and a secant line divided by the number of sides on a dodecahedron?

ANSWER: ¼ ((1+2) / 12)

4A.
Which German-born musician composed the French-style operas “Armide” (ar-MEED), “Orpheus and Eurydice” (yur-ID-uh-see), and “Iphigenia in Tauris?”

ANSWER:  Cristoph Willibald Gluck (GLOOK)

5A.
What class of chemical reactions involves changing the chemical structure of a compound with electrical energy?

ANSWER: ELECTROLYSIS
5B.
Who, along with his son Sebastian, explored the areas of North America now known as Newfoundland and Labrador?

ANSWER: John CABOT
6A.
What three-word French phrase is used in English to describe a finishing blow?

ANSWER: COUP DE GRACE
6B.
What property of an equation can be verified by a vertical line test?

ANSWER: FUNCTIONALITY (accept equivalents, such as “whether it’s a function”)

7A.
What name is given to the type of law, based on norms approved by bishops, that governs the Roman Catholic, Orthodox, and Anglican churches?

ANSWER:  canon law

7B.
The misfortunes of the Ancient Mariner in the Coleridge poem begin after he shoots what animal which had brought good luck?

ANSWER: the ALBATROSS
8A.
They are located about 100 miles to the north of New York City, and have three dozen peaks of over 3,500 feet. What are these mountains in New York State?

ANSWER: CATSKILL Mountains

8B.
What term is the ratio of useful work performed by a machine to the total amount of energy required to operate it?

ANSWER: EFFICIENCY
9A.
THIS IS A COMPUTATION QUESTION. A carpenter is building a picture frame from wood, using one 9-foot strip of the material which he cuts into four pieces.  What is the maximum area, in square inches, that can be framed?

ANSWER: 729 (a square is the maximum area)

9B.
Who is the North Carolina Senator that has announced his candidacy for the Democratic presidential nomination?

ANSWER: John EDWARDS
10A.
Erosion or tectonic activity can cause what phenomenon, a flow of water over a vertical section of a river channel into a plunge pool?

ANSWER:  waterfall
10B.
“Any attempt by any outside forces to gain control of the Persian Gulf region will be regarded as an assault on the vital interests of the United States of America.” What is this “doctrine” named for the President who first stated it in 1980?

ANSWER: CARTER doctrine

Third period: 15 tossups

1.
The Washington Naval Conference established ratios of 5:5:3 (5 to 5 to 3) for the three principal naval powers of the 1920s. The US and the UK were the two fives, for 10 points, what nation was the 3?

ANSWER: JAPAN
2.
After losing one member, this band made the albums Other Voices and Full Circle. Including drummer John Densmore, guitarist Robby Krieger, and keyboard player Ran Manzarek, their songs include “Spanish Caravan” and “The Unknown Soldier” from Waiting for the Sun, “Touch Me” from The Soft Parade, and “People are Strange” and “Love Me Two Times” from Strange Days. For ten points, name this Jim Morrison-led group whose debut includes “Break on Through” and “Light My Fire.”

ANSWER: The Doors
3.
For 10 points, what is the adjective clause in the following sentence? My sister who is much older than I am, is a doctor. 

ANSWER: WHO IS MUCH OLDER THAN I AM
4.
For ten points, if a cell undergoes apoptosis, what has it done to itself, perhaps making it worthy of study by Emile Durkheim?

ANSWER:  destroyed itself (or self-destruction or “cellular suicide”)

5.
Originally a religious lawyer, he became the first chair of mathematical physics at the University of Turin in 1820.  For ten points, which Italian coined the term molecule, and also stated the chemical law that equal volumes of two different gases contain equal numbers of molecules, provided they are the same temperature and pressure?

ANSWER:  Amadeo Avogadro
6.
Founded by former Hartford Whalers announcer William Rasmussen in 1979, its signature show arrived that same year with George Grande and Lee Leonard as the first hosts. It currently uses twenty-five satellite dishes and 173 Betamax tape recorders on a daily basis to produce NFL Primetime, Baseball Tonight, and SportsCenter. For ten points, name this first twenty-four hour cable sports network.

ANSWER: Entertainment and Sports Network

7.
A star whose parallax is one second is this distance from the Earth. For 10 points, what is this unit of distance equal to 3.26 light-years?

ANSWER: PARSEC
8.
It takes place on an unprepared stage, with a father, a son, a stepdaughter, a mother, a boy, and a child, who demand that they perform a drama that was never written but should have been.  For ten points, what is this 1921 play by Luigi Pirandello?

ANSWER:  “Six Characters in Search of an Author”
9.
Born in 490 BCE, he worked mainly in bronze, gold, and ivory, and he supervised artistic work on the Acropolis, completing the Athena Promachos (pro-MAHK-ohss) and Athena Parthenos statues himself.  For ten points, what foremost ancient Greek sculptor also created the massive Statue of Zeus at Olympia?

ANSWER:  Phidias
10.
He constructed the Escorial Palace, and though he defeated his enemies at the Battle of Lepanto in 1571, his reign was marked by battles against rebellious Dutch and the destruction of his Spanish Armada.  For ten points, who was this king of Spain, the son of Charles I?

ANSWER:  Philip II
11.
Named by geologist Roderick Murchison after an ancient kingdom west of the Ural Mountains, rocks from the period feature high amounts of petroleum found in west Texas, while during it Laurentia and Gondwanaland merged to form Pangea.  For ten points, what last geologic period of the Paleozoic Era ended 248 million years ago with the extinction of many marine organisms?

ANSWER:  Permian period

12.
He spent twenty years in the Spanish army, rising to the rank of lieutenant colonel, but he resigned his commission in 1812, and the following year he crossed the Andes into Chile, defeating the Spanish there.  For ten points, what conqueror of Argentina, Chile, and Peru was known as the “Liberator of the South,” before he gave in to Bolivar in 1822?

ANSWER:  Jose de San Martin
13.
In Greco-Roman mythology, for ten points, what serpent that could kill with its gaze or breath had the tail of a dragon and the head and wings of a rooster?

ANSWER:  cockatrice (or basilisk)

14.
THIS IS A COMPUTATION QUESTION. Skidmarks can be used to estimate the velocity of a car, in meters per second, when the brakes were applied, using the equation v equals the square-root of the product of 15 times d (y = √(15d)), where d is the length in meters of the skidmarks.  For 10 points, how fast was a car traveling when it braked if it left a mark of 60 meters?

ANSWER: 30 m/s
15.
Female members of this movement included Esther Popel, Nella Larsen, and the author of Tell My Horse and Their Eyes Were Watching God, Zora Neale Hurston. Other members were Alain Locke, Countee Cullen, Claude McKay, Jean Toomer, and Langston Hughes. For ten points, name this 1920s literary school which produced realistic fiction and poetry by African-American authors based in New York.

ANSWER: Harlem Renaissance

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
What computer science term refers to the source of a delay in transmitting data through a computer or across a network, such as when 128-bit processor has to transmit data across a 32-bit bus? 

ANSWER: BOTTLENECK
2.
This waterfall is named after an American gold miner who discovered it in 1933. This waterfall is 2,937 feet high, 15 times higher than Niagara Falls. For 10 points, what is this waterfall in southeastern Venezuela, the world’s highest?

ANSWER: ANGEL Falls

3.
A skit showing priests being chased by police and nuns locked in cage brought controversy to, for 10 points, what Philadelphia New Year’s parade?

ANSWER: MUMMERS Parade

4.
For ten points, in Gulliver’s Travels, what is the destination of Lemuel Gulliver’s first voyage, a land of people who are about six inches tall?

ANSWER:  Lilliput
5.
THIS IS A COMPUTATION QUESTION. A digital image is to be increased by a factor of 1.2.  The picture’s original dimensions are 7 by 12, and is oriented in the software such that its bottom left corner is at the origin.  For 10 points, what are the four vertices of the enlarged image?

ANSWER: (0,0); (8.4,0); (8.4, 14.4); (0, 14.4) 

All questions © 2002 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.


